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ADKEE| 1HEZE | AOKEE| 1EZE | HOKEE| 1REE | HOKEE| 1HRE ADKEE| 1HRZE | AOKEE| 1EZE | HOKEE| 1REE | HOKEE| 1HRE
D3LBA| 0BEx |O3LBEX| oBx |03BEX| o5 |03B8KX| o5 O3LBA| 0Bx |O3LBEX| oBx |03BBEX| o5 |03B8KX| o5
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1 ) - - 100.0 1.0 - - 10.4 2.1
2 3 111.9 1.0 100.0 1.0 - - 11.5 2.3
3 4 124.7 1.0 100.0 1.0 - - 11.5 2.3
4 5 124.7 1.0 100.0 1.0 - - 11.2 2.3
5 6 131.0 1.0 100.0 1.0 - - 12.0 2.4
7 8 - - 100.0 1.0 - - 12.0 2.4
8 9 150.2 1.0 100.0 1.0 - - 15.2 3.0
9 10 152.3 1.0 100.0 1.0 - - 15.2 3.0
10 11 152.3 1.0 100.0 1.0 15.6 3.1 15.2 3.0
11 12 149.8 1.0 100.0 1.0 - - 15.2 3.0
12 13 - - 100.0 1.0 - - 12.8 2.6
13 14 - - 56.2 1.0 - - 10.4 2.1
14 15 - - 64.6 1.0 - - 10.4 2.1
15 16 - - 72.1 1.0 - - 10.4 2.1
16 17 - - 76.6 1.0 - - 9.8 2.0
17 18 - - 85.0 1.0 - - 9.0 1.8
18 19 - - 85.0 1.0 - - 9.0 1.8
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